
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 945

29 hm = 29000 dm

25 m = 25000 mm

64 hm = 64000 dm

51 km = 51000000 mm

1 hm = 10000 cm

16 dam = 160000 mm

27 hm = 27000 dm

27 m = 2700 cm

87 km = 87000000 mm

34 hm = 340000 cm

650000 dm = 6500 dam

9000000 mm = 9 km

96000000 cm = 960 km

620000 mm = 62 dam

370000 dm = 3700 dam

860000 m = 86000 dam

900000 mm = 9 hm

5800000 cm = 580 hm

66000000 mm = 66 km

85000000 mm = 85 km

98 dam  et 21 dm = 9821 dm

63 hm  et 40 mm = 6300040 mm

94 km  et 19 dm = 940019 dm

25 km  et 63 mm = 25000063 mm

38 km  et 91 mm = 38000091 mm

54 dam  et 32 mm = 540032 mm

33 dam  et 25 mm = 330025 mm

55 dam  et 26 cm = 55026 cm

66 dam  et 84 cm = 66084 cm

33 m  et 92 cm = 3392 cm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :

https://www.toupty.com

https://www.toupty.com/

